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The shares of a steel company are quoted at Rs. 42
per share. The firm had paid a dividend of Rs. 4
per share last year. The expected growth in
dividend is 5% p.a

(a) Determine the cost of equity capital of
company

(b) Determine the market price of the equity
share if the anticipated growth of the firm

(i) Rises to 8% and
(ii) Falls to 3%.

Explain in brief the various factors influencing
working capital. .

From the following estimates, calculate the
average amount of working capital required.

Average amount locked up in stock :

Stock of finished goods and work-in-progress
Rs. 10,000 p.a

Stock of stores, materials etc. Rs. 8,000 p.a
Average credit given :

Local sales 2 weeks credit Rs. 1, 04,000 p.a
Outside state 6 weeks credit Rs. 3, 12,000 p.a
Time available for payments :

For purchases 4 weeks Rs. 78,000 p.a

For wages 2 weeks Rs. 2, 60,000 p.a

Add 10 % to allow for contingencies.
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10.

4 8

12.

13.

14.

-Explain the ARR, NPV, IRR in capital budgeting.

What is Financial gomm_.zwm..v What are the uses of
financial model?

Explain different methods of Evaluating Capital
Expenditure Proposals.

Define Operating and Financial average. How can
you measure the degree of operating and financial
average?

A choice is to be made between two competing
proposals which require an equal investment of
Rs. 50,000 and are expected to generate net cash
flows as under :

Project I  Project II
Rs. Rs.

End of year 1 25,000 -10,000
End of year 2 = 15,000 12,000
End ofyear 3 10,000 1 8,000
End of year 4 NIL 25,000
End of year 5 12,000 8,000
End of year 6 6,000 4,000

The cost of the capital of the company is
10 per cent. The following are the Present Value
Factors at 10% per annum.
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15.

16.

17.

Years Present Value Factor
at 10% p.a.
0.909
0.826
0.751
0.683
0.621
6 0.564

v o N

Which project proposal should be chosen and why?
Evaluate the project proposal under :

(a) Payback period
(b) Discounted cash flow method.

Explain briefly the Modigliani and Miller
approach to capital structure.

Cost of preference capital is generally lower than
the cost of Equity. State the reasons.

SECTION C — (1 x 20 = 20 marks)
Compulsory.

Case study :

Agro products Ltd, Pondicherry is considering the
various credit policy alternatives.

5 ~ MBAO6R




